SUNMMER READING PROGRAN
FORTHIE 4™ FORIVL

Read a total of 1200 pages.

REQUIRED: ‘ 7
Within this total of 1200 pages, every student has one required book that he or she must read.

THIS SUMMER: ALL must read Robin Hood by Roger Lancelyn Green. We will be having a
book discussion on this book the first week of school in the fall.

(This book can be a part of the 1200 page total. There are copies that can be checked out from
4th form humanities, but must be returned the 2nd day of school.

Fill out the form on the back of this sheet,
listing the books read.

How | act when |
get a new book:

Note: A parental signature is
required.

This form will be collected on the 1% day of school,
Extra credit will be given to those students who
turn the form in on time.

On the second day of school, the form may be
turned in without penalty,
BUT no extra credit points will be offered.

After the first two days of school, summer
reading forms will be counted as “late” with
points being deducted from the student’s grade.

-~ I'm going on.an adventure!

Additional books we strongly recommend:
- Ender’s Game
- The Scarlet Pimpernel
- Jane Eyre
- Pride & Prejudice
- The Bridge to Terabithia
- The Outsiders
- Banner in the Sky
- The Space Trilogy by C.S. Lewis

Books can be read via audible or kindle, but we recommend that students have a visual copy of the book
to follow along with.



This form will be collected on the first day of school,

On the first day of school,

extra credit will be given to those students who turn the form in on time.

On the second day of school,

the form may be turned in without penalty, BUT no extra credit points will be offered.

After the first two days of school,
summer reading forms will be counted as “late”--w/ points being deducted from the student’s grade.

--Summer Reading Pledge and Report: 1200 Pages Total--

I have read the following books this summer:

Title Author Number of Pages

Total number of pages read:

Student’s Signature:

Parent’s Signature:




Rivendell School

4t Form

) T i P
Mres. . Johns

- Summer Math Packet
- Pre Algebra

(For students entering Algebra in the fall)

Name

Contact Info
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Here’s a great puzzle for all of youneatness freaks. All you
have to do is arrange the numbers in the boxes above o)
that no two consecutive numbers are next to each other
(horizontally, vertically, or diagonally).



In problems 1~12, add or subtract
1 3 i 3 2 1
13+3 23-15 33+3 4
<2 1 z 1 S -
57-3 6 5+3 75+3% 8
2 7 301 2 1
9 3-7g 0 §-% 1t 545 iz
In problems 1315, compare, Use > < or=
1 5 Z 3 17 5 2 11 10
B1+505+m . #15-§0O2-3 55+301%3
In problems 16 and 17, is the statement frue or flse?
. : - 1.
16 The sum of any two fractions less than 2 is always grenter than 3.
17 Fractions with the same denominarors are always equivalent,
- . o) s ; . 1
18 List two fractions with different denominatars whose sum is less than 5.
19 List two fractions with different denominators whose difference is less than

el

5 . c il
At Cenrral High School, a survey showed that 7
:‘

1 5
Another s walk to school, and the remaining 15
Whar part of the students in the school do not walk to school?

The owns of Lydon, Sewall, and Toten are locaed in a north/south straight line, Sewall is
located § mile north of Toren, Lydon is sourh of Togen and %%mi_le from Sewall. How far aparm aie

Tomen and Lydon?
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In problems 1-3, the scale for this map is 1 centimersr : 80 kilometzss
Find the distance between

; > Dzn Cit
1 Den City and Paw City 4 5 1
: 4 2.0Cm
2 Scare City and Den City Paw City 2
& i g1cm
" . . Scars Ci -
3 Paw City and Scare City Gaa 3
Tn problems ——6 find the ansn, of 2 substznce with the given mass
andvolume. Densi+y = Firss )
v X wa LR ~
4 Mass: 130 g Volume: 20 cm? 4
5 Volume: 55in3 Mass: 22 b 5
6 Volume: 145 m® Mass: 50.75 kg 6
7 The scale of 2 model sailboat is 1:42, The mast on the model is 3 inches 7
high. How high, in feet and inches is the mast of the actual boar?
8 There are about 2240 snimals in the land of Wundiralis, which covers sbout 8
112 squiare miles. Find the mu:l:d population densiry in Wundiralis.
§ Two cities are 40 miles apart. On 2 map, they are repr resented by dots 9
4 inches apart, What is the scale of the map? i
Tn problesns 10-12, rewrite each map scale 25 2 ratio of numbers.
10 1in:50mi 10 -
11 1em:73km 1
12 lin.25k 12
13 A map hasa scale of 1 inch : 100 mile <. What distance on the map 15

represenis 575 miles?
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In problems 1-4, sojye each proportion for o,

3_.n 2_8

) 2 £=8
1 515 “ 7 n
2 n_6 ; 11 _n
3 5= £ ==L

6 9 20 5]

1o problems 5 and 6, Fi s parallel 1o 7. iy = 2 1, andNZ=3in,
wWhat do taw o ice

s

5 Find MX if NX = 9 inches,

6 Find NX if MX = 9 inches.

Y ———— Yy

7 A_ 'Lh_»'e§~i_r1ch~b}r-ﬁve-i_nd1 posteard was enlarged jnip 5 Dictur
foot wide. How long is the picure?

(14
=
m
~
5
o
)
4]

8 In ABC elementary sc 00, the rzrio of boys to girls in each grade js 2:3,
2 Inthe second grads there 2re 50 boys. How many cids are there?
b In the third grade there zra 66 girls. Hows many boys arz there?

o

t

In problems 912, solve each Proporion for x

36_54 x_3%
9 x 3 10 5;1_—?
11 00028 _ x 12 3% _15

0.49 .7 _ 6% x

13 Lastseason 2 besebal] pitcher threw fasthalls and curve balls in the rarjo

of 510 1. This season he throws them in the ragig of 301,

2 For every 90 fastballs tha pitcher threw Jast §e2son, how many curps
balls did he throw? )

b For every 90 fastballs the pitcher throws this season, how many curve
balls does he throw? -

¢ Ifthe pitcher Plays in 2 league in which tha bagers are good fasibzll
hiters, will his record this ¥ear be beter or worse than lastyear

s
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1 Are the two recrangles similar? How caa you tell?

~l
=t

5it

21 A

2 IFAMNP ~ AXYZ, find the values of xand a.

P
i5cm
-
2cm
M
' 12 cm N X L X -y

3 Give the dimensions for two recianglzs that would be similar to the
rectangle showmn.

1in.

% 5in.

Vs

TFEC is paralle] to AB, what is the ratio of DE to EA?
P \

D
41in. i —\-
E 11t £
6 Rectangle ABCD is similar to rectangle HEFG. . )
2 FindACtothe E
nearest hundredth. c ——‘——‘:‘7
b Find HF io the 4 6 ’//
nesrest hundredth. = -
b A 8 D H
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[
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U
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Recall tharthe volume of cone with radiug rznd heizght his
equal to glﬁr’b ’

& What isthe volume of the cone?

b Ifa similar cone has a diamezer of
10 inches, what is jts heigh? Wha;
i3 its volume?

€ Whar is the ratio of the volumes of the copss N pars 2 and by

AMNP ~ ARST, MN = 18,
and RS = 15,

a NP =20, what isST?
b IFTR = 10, what is PP



In each puzzle, use the toral number of tiles 2nd the ratos to dstermin

color. Ttmay be helpful to use ties.

1 10dles yellow ored — 3:1
red 1o blue — 1:1

2 2liles blue to green — 3:2

red © yellow — L5
i
3 3ltiles red o blue — 4:37
i green to yellow —3:2

4 13tlss blue wred —5:2
yellow tored — 3:1

5  22dlss grezn to red — 3:2
red to blue —1:3

6  2itles red to yellow — 1:1
yellow 1o blue — 2:3

7 24ties yellow to blue — 5:7
red to green — 1:3

8  30tles green o blue — 7:2
red to yellow — 1:3

9 23tiles red o yellow — 2:3

yellow to green — 4:1

=

R R A

« many tiles there are of each

yellow
red
blue

blue
green
red
vellow



Its testing time at the ABC Puzzle and Game Company
again. The boss loves to give out bonuses, but you have to
solve puzzles to get them. This week's puzzle is worth $10.
Lets see ifyou earn it. Above and below the line is printed a
portion of the alphabet, with some of the letters above the
line and some below. Write the remaining letters of the
alphabet, placing them correctly either above or below the
line according to the bosss hidden scheme.

)\'}
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In problems 1-7, 2dd or subtract

3 5 .
1 6% 2 63 3 5%
43 L Qe 1
— 455 + 8% =
. o « B ad <5 .3 I |
4 9'07' 3] bg j\z 6 /S-r—'.‘fg' / 23—'3
8 Which has the greater perimeter, 4 square with sides of 5% or an equilateral triangle with sides
of 77
2l sl .
9 Which has the greater perimeres, a i wmngle with length 57 and wicth 35 or a square & th anarea

of 23?7 3

Tn problams 10 2nd 11, is the sitement &rue of false:

false.
10 The sum of any two mixed numbers is always another mixed numbES.
11 The difference berween any two positive mixed qummbers can never be more than either of the

two numbers.

i 1
12 Find fvo mized numbars whose difference is berween 37 and

s s y 3 . 1
13 Find three mized numbers whose sum is berween 10zand 12,

14 At the beginning of the day, a stock was at a price of 25. During the course of the day, the stock
rose by 15, fellby %,

then rose again by 3 \hat was the price of the stock at the end of the day?
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In problems 2-5, graph ezch in

2 x>-2 3 xs53

5 S 3o S o A
B, 2w gpep

equality,

4 x>7

In problems 6-8, write an inequality for each graph,

2 x<-4

6 t— .

e |

~1

In problems 9-13, graph each inequality,

% ¥<lorx>s 10 x>-3294

N

12 =

1~

-5

B

I

In problams 14-16, write 2n ine

I

<4 137 5en.g rx<4

quelity for each &aph.

r<2 11 x<3¢r3

17 fd<s5,9< B and 4 < C, which inequalities mugt pe true?

a A<B b C<s

d B>s

C C<B

18 The perimeter of the recangle js less thap 26,
Write an nequality for I + W

W

M



Determine what vaiues of x make these mathemarical senrences Tue. Graph your answers on ihe aumber
ines, Remember: 2 solid endpoint means that the coordinaee is included in the set, and an open endpaint
rmeans the coordinate is not included in the ser.

!
1 a x+3=7
—~5 ¢ 5
b x+3<7 - :
-5 € 5
2 a x+-2=1 a
-5 0 5
b x+-2>1 ,! ] -
=3 U] 8
3 a x+l=-1
} -3 @ 5
b x+22-2 < !
-5 6 5
|
) . |
4 4 x+1=0 R : :
) @ 5
b x+1<0 < L
=) @ 5
i
3 a x+-3=-1 -
) (0] >
b =x+-3<- L C
) @ 5
6 a 3=x+-1 L =
-5 o] &5
b 3z2x+-1 l
-5 0 5
|
7 a 0=x+2 ] !
-5 0 5
b 0>x+2 I
-5 ) 5
8 a -2=x+1 ; - -
=) [0 5
b 2<x+l 2
.—5 - :5
i
il i [ 'l i |

g



In problems 2-5, find each difference,

2 4.9 3 4.9 4 49 5 ~~(-9)
6 Subtact the marrices, L g 6 -
2 0 |3
7 Find the distance between these n numbers on the number line,
2 -5znd 2 b 1znd-ig C ~420d0
In problems 8-11,5 the equation

In p;oblem; 12~15, evaluame each Spressionif x=4, 3= =2, and z=_3,

j—
5N
~
1
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Abseluis Values

Some inequalities involve absolute value — an example is |x|< 5. These inequalities can usually be
changed ino equivalent sentences thar use the words znd or or instead of the absolute value symbol.
’

The inequality | x| <35, which uses the “less than” symbol, may be wrien using the word and. Look at
the graphs of the two inequalides | x| <5and x<5 and x>-5. The graphs are the same, 50 the two
inequalities have the same solution.

¥<5and £>-5

1 .
An inequality like | x| > 5, which uses a “grearer than” symbol, may be weritten using the word or.
qu J ) o d t] ] o

|zl >5

1
o
o-
Laz 1]

©>50rx<-5

he following inaqualities are writzn with 2bsolute value symbals. Rewrite them 2s inequalities
without absolute value symbols. Graph each solution.

1 |xl>3 ' s e el Bl
2 |xl<3 g :*5‘_' — l::)_" 5 —
3 |x+1l|<4 ; ottt S ;
¢ lz-2l <6 B
5 |x+4l>3 i R
6 lx-1l<5 '_5' B e -
7 lx+3[20 T S

(€N
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The ancient wise man here is working on the old “Steel
Band"problem. He put asteel band around the earth ai the

equator, then cut the band and added ten fest to it. Some
magical force now holds the band an equal distance away

from the earth. What is this distance? (Assume that the
radius of the earth is 4,000 miles and use 3.14 for pi.)
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In problems 1-12, divide.

15547 2 3410 3%+23
4754 5 62+3 6 5+
7%%% 8 1543 0 4+3
0 §+3 n§+3 1§43

Tn problems 13 zad 14, solve for 2

a 53 . =
13 n=32+150
14 n=355+4

1, T 3 P (0. [ o5
15 What is the length of a recrangular-shaped floor whose area is 097 fi? and has a width of 9 2

In problerns 16 and 17, give the nest two numbers in the paitern.

==
wlo
[
Wafio
¥]
s
\

[E3][INY

16

N e |
17 2, 154,152



a
b _:,l &s sh.rma 2 verex a.nd asiceara ahavs af‘q Sal
c ,

-2 Iaem_ryr_ g pa_ of angles marked with arows 25 adjacent angles, vertical
angles, or neither.

a / b c \> -
» ) ¥ \ .
/<_/ = /S‘/ -
¥ ¥ ¥ T
3 Inthe diagrzmmZ AGB =37 and m/ CGD =50, .
What is A e S

¢ mZ BGC?
d mZ FGE? , B D%

2 mZ DGE? / ©
b m/ BGD? 3 {

J'.Im/ BAE = §5, whatis
a CAD?
b n_L-i BAD?

mZ CAE?

1S

5 STUV isa square with its sides paralle] to the axes, What are the coordinates
of points § 2ad 1?

Ly S T(7,2)
| x
Y ovE -2 U

6 Whar is the measure of the complement of the supplement of 2 105° angle?

~1

List all the pairs of parzllel segmeznis and 2ll the pairs of perpendicular
_segments in polyzon ABCD. ’

D (0,3)$———> C (5, 5)

/s

A B

-
n

(=N

i

0




A line that intersects wo other lines is called a trensversal. When 2 transversal intersects the wo lines,
ight angles are formed. These an oles can be named by their positions. Alternate is uszd to describe

=

angles on opposite sides of  transversel. Interior refess to angles berwesn the two lines, and extesior
refers to angles ourside the two lines. In this figure, £ isa transversal.

n

aznd £ gare aliemase exienior angles. Name another pair of alternate exierior angles.
/ dand Z fare alternate interfor angles. Name another pal interior angles.
In the upper group of angles, / zis zbove line pand to the leftof the transversal. In the lower group,
/2is in the seme position, sbave line m2nd 10 the ek of the teensversal, Z22nd Leare corresponding

,_
Q
h
!)3
=
a
B
a
g

angles, Name three more pairs of corresponding angles.

{1 1fatrensversal intersects parallel lines, the corresponding zngles are CONgruen: . Without using 4

protractor, determine the measure of each angle if Z1=150.

2 /1 mLl= m£5=

3/ 4 mZ2= mZ6=
6/5 m/3=___ mLi=
7/8 mZ4= m/8=

/

Name two pairs of alternate mzerior angles,

»n

3 When the lines are parallel, whatis true about the measures of alternate interior angles?

4  Name WO pairs of alternare exterior angles. ’
5 When the lines are parallel, what is true about themeasures of aliernate exterior angles?

i
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If ABCD is a recrangle and AC = 20, what is lengh BD? A B
D c
IFEFGH is arectangle and FH = 12, whatis lengh EF & F
|
H G
If MNOP is 2 rectangle with area 12 and MP = 3 M N
what is length NP? y
1
P o
SU\7 is an isosceles triangle with SN =5U and N
=62, Whatare m I

(_:.
8
1\
[
I
9
=
Y3

[ WXYZ is a parallelogram
what is m £W7?

ABCD is a parallelogram. If AO = 4 and BO = §,
what are lengths OC 2nd OD?

PUSH is a parallelogram with
dizgonals paralle] to the axes. LYy

- U s
Whar are the coordinates of _(a %
poinis § and H?
P (1,2 S
‘;l N e
T H

3]

w2

el

G\

~1

4



1 a Wiite a verex mauis for trapezoid ABCD.
b Multiply the marrix by

H

2nd draw the image represented
by the product

2 Wiite 2 vertex matrix for the triangle

D (2, 2)

C 5,2

P A(1,-3)

LAY

A2, 3)
- X
C (-4, —1)&1\/

“:" : A B (21 —6)
3 g Write a veriex marrix for QUAD. Vi _
b Multiply the mauix by D6 AGT
0 = \ v
U (7, 4)
10 Q29
and drzw the imags repies ented X
by the product. A
4 Atranglehas vertices A(L, -2), B, 3), and C(0, 4). Use metsx addition 1o
find the coordinzres of the VErices of ~4'B'C Lhe imagz of AABC afiera
translation of <-1, 0>, -
- . £ = Yi —
S What is the area of quadrilateral RIOT? R0.7)

6 a Describe what happens to the - 2nd
y-coordinates of T, O, and P when
ATOP is reflzcied over the y-axis

b Evaluata.[_l 0} |2 3 2
0 1 45 2

3

>

B (7,-3)

M

6a

Ly
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In problems 7-12, write ezch fraction as a percent,

. | 2 3’
73 § 3 9 20
3 3 5
10 % 11 6 B
In problems 13-18, write each percent 25 a fraction.
13 90% 14 6% 15 0.2%
16 30% 17 8% 18 60%
19 Which fractions are equivalent to 80%
. 8 8. 4 8
210 b 100 3 d1
20 Which fractions have 2 paccent equivalent that is betwesn 43% and 65%?
i 3 2 3
EG) b % . c3 adsg

"21 Yogi ate 4 of the 6 slices of the pizza. What percent of the pizza did he ea?

i)
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coo 3 s B
2 3x-5x+x —6x" b 6y+ 2xy+4dy+ 3y
o i”—5572;:+3}7 5 d —2(x+ ) + 337+ 2%
2 A 5 ]
& 4(8x+2y)-2(2x-5)

3L > 2.1,

a g+3 b §x+3x C Exy+3y

- T n

d 4x+sy e 4xr-s55 f 4z 35543
Is the statement tnue or false for the iven valuss of x?

Write an exprassion in simiplest form to represent

2 The perimsier of the tancle b

Simplify each expression,

=2 .1 3 5 g 8 5
2 3x+hx b 3y-3¥ ¢ 2Q@zr+2p+3x
The lengths of line AB and €D are equal
X, X X, x x . 2 S,y ¥y .y
F [ ; [ 1 [ o 1 i T
A B C

4 Write an expression for the length of 4B,

b Write an expression for the length of €D,

¢ Ifthelengths of AB and CD are 27, what are the values of
xand y? .

d Whatwould be the lengths of i and D if (x, ) = (2, 3)

.

)

h

k &.)

o

n
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1

Match ezch item in the column on the left with an item on the right.

C
2 0 i 12¢
b 3x+5x i 15x d
c 33 fii 3x+5
d 3(x+3) v 8x 5
€ Az +5 v Ox
f 30x-% vi 3z+15 f

Without using a caleulator or a pencil and paper, evaluate each expression.

2 83.6+833+831 =
b 836 +369-36.17 .
c 293.77-93.77

; .

N

(%)



simplifying Expressians With Frag iions

The procedures usad to simplify expressi
decimals. Here 2re o exzmples,

Ezample 1

2 1
Simplify the e wpression fx+2- %3:~ Z
Solution
i o 2, 1 1 2
Group likz terms, Fx+2 ~3I~5 = §x-9x+2
PR Tt 2 1-
Combine lile terms, = (5-F)z+
-

- 1 .7

=~ gz+d
Ezzmple 2 2
Simplify the expression, 23+ D+ 0752~ 13x
Solirion
Distributa the multiplication by 23, 23(F+D+07x2- 1

Group like terms,
Combine like tarms,

Sr-'\

-

2.2 3
2 3_-\_ 72.&—3_—1 —;

P

U
Lo
R
(o] 20

by
i8]
F

O

=

{ons with ing egers also

138}

(128 N

1N [

o

Qa

(2N

w

6

' 2 -
3 TN s g
i Tm L oiEm m o
t W TR Vet s

23x2+23x+ 0752 1l3x
2327+ 0,752+ 235 13x
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1 Translaie each phrase ino an algebraic expression,

N

AS 1)

1N

8

I

2 The product of 6 2nd a number

b -The sum of 2 and twice a number

¢ 2 divided by the sum of 3 and a number

Translzte each algebraic expression into 2 phrase,
ad
a2 x+3=5 b 15 c 3x-2

Write an equation for the area of each figure.
a b

2y y

The temperature is 70° at 1 P, It starts rising by xdege.:s per hour.

Viite 20 expression for the temperamire 2t the ur»en s that afiernoon.

a 2pM b 3:30em c 5P!vl

Segment AB is ern_al in length to segment CD. Write 2n equation to
represent this equality.

2x | 3x-3  2x+5 3x+3 | x+8 5

[ 1 &

A B c "D

In the figure, Zlla | Writs en equation suggested by the figure,
;)

3x+7y/

Chelsea is pzid $5.50 per hour plus 7% commission on her sales.

2 Wiite an expression for her eamings if she works 5 hours and sells
$250 worth of goods.

b Wiite an expression for her income if she works xhours 2nd sells
y daollars of goods,

‘Wiire an equarion to represent that AB = CD. -
XX XX 22 18 XXX X XN
1 0 .

T

o

> B
w

c ' D

la

n

1
i\



1

¥

Solve each equation for y.

a \/)7‘—“6 b y"=56

c x'=2¢ d x*+16=25
Solve each equation for w.

a |wl=2 b |w-3|=6
¢ lweil+2=4 d [wl-3=5

Solva ezch equarion for m.
2 4m-1=38 b 3m’=48
¢ 3m+15=12m+1

Jill wants to build a rectangular swimming pdol with a perimater of 204 ft

and sides of lzagth xand (3x + 2) feat.
a Solve for x.
b What 2re the dimensions of e pool?

Find the valae of 4, b, ¢, 2nd din the equation.

a-1 3 4 2b+5
2 2
e d+2 3¢ 2d

Use a number line to graph the valuss of =
- el

£

for which —‘ xl=2

Find the value of yso that the perimeter of the ‘ﬁlqge equzls 12,

2y

Find the value of xso that the area of the circle is equal to 49r.

c Ve+2=6

2 2
d 957 -3(2x"+1)

53

c

(p}

A2

[ ST,

U,

N

O\

~

00

o

(@]

(=X



Grzce, Helen, and Mary were discussing their ages one day,
and in the course of their conversation they made ihe follow-
ing assertions,

Grace: I am {wenty-two.
I am two years younger than Helen.
I am a year-older than Mary.
Helen: I am not the youngest.
Mary and I are three years apart.
Mary is twenty-five.
Mary: I am younger than Gracs.
Grace is twenty thres,
Helen is three years oldsr than Graca.

It iz of course too much to expect that three young womsen
should be entirely truthful when spezking of their ages, and
in the present instance only two of the threse statements
made by each girl are irue.

Can you deduce the age of each one?

I~
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In problems 1-3, what percent of the boxes have X's in them?

1 2 3
X | X XX X X X
XX X X X
% X x|_[x] Ix] |
In problems 4-7, find the percent. .
4 6 is whar percent of 207 5 30 is what percent of 257
6 What percent of 80is 27 7 What percent of 40 is 407

In problems 8-10, compare 2 2nd b, Which represenrs the greater percent?

8 2 thepercent 10isof 15 b the parcent 12 is of 36
9 a thepercent 10 is of 8 b the percent 20 is of 30
10 a the percent 20 is of 50 b the percent 70 is of 90

11 If 2 is 40% of b, what are some possible values for 2 and b?

If x is 150% of z, what are some possible values for xand z?

B

13 The Food and Drug Administration SUggests eating 52 grams of protein each day. Emnie ears
130 grams of protein daily. What percent of the recommendad amouit of prowein does Ernie ear?

14 Mrs. Parks sold $550 worth of cookies today. She also collected a toral of $59.50 in sales ta. What
ax rzie did she use?

(]
{5
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Expressions and Equ aii s With Money

When working with problems '»'an money, special zrention must be given to the units. When coins
are involved, the value of u_he coins often must be spacified. For example, n dimes hzs the value 100
cents or 0.1ndollass. In all equations involving money, the valies must be expressed in the same uni,
either in cents or in dollars.

Wriie an expression for the value of the following coins, first in cents, then in dollars,

Fxpression Value in Cents Vahe in Dollars

xnickels 5:

1

0.05x
X pennies

{38}

x dimes

X quarers L

e w

xdollars

x—1 nickels

¥+ 4 dimes

xdimes and x-1 quares

x dollars and xnickels

o o 1 & \n

-2 quartass and x penmies

10 xnickels and x+ 3 pennies

Wiite and sclve an equation for each problem.

1
),

11 Elizabeth has a handful of coins towmling $1.45. She has several quarters and one fewer
nickel than quarters. How many of each kind of coin does she have?

12 A coinbag contained §6.70. There were.twenty more pennies than quarters, nine m
dimes than quarters, and four nickels. How many quarters, dimes, and pennies did
the bag contain?

nore

13 Sﬂmh received $2.03 in change from her five-dollar Bill when she bought snack bars at
7 cents each. How many snack bars did she buy?

14 There were four stacks of coins on a desk. The stack of pennizs had four more coins than
the stack of nickels. The stack of dimes had two fewer coins than the stck of nickels, and
the stack of quarters had one fewer coin than the stack of nickels. The coins had a value
of $6.15. How many of each kind of coin were there?
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1 Solve each inequality. Graph the salution op a number line, 12
a - -
2 2xr+14>4 b 12-33<5
c02x+2 d Sx-4<2x+1] b
e
2 Find the largast ineger that solves each inequality, o
= y
a 7x<28 b x-222¢+8
¢ (x-2)<0 d
e
3 The perimeter of the quadtilarera] 3x-1 2a
: s —_—
is less than 50.
2 Writean inequality to descibe =~ x—2 Cad b
) T e
the figure, .
b Solve for x. Dx+3 c
2x4 _—
4 The area of the square is ar Jeast 81, Y og 3a :
. . . " :
Write an inequality 1o represent this,
Solve the inequality for x. x b
m e
A
-1 5a
Z N
. .
————
10. 6
Jr 2
7 Don worls at least 5 hours ar 10 dollars per hour, If xis the amount of 7 s
money he earns, write an Inequality for x,
8 Refer to the drawing. 8a
3 4(x~2) '
| ! [
o I b
f‘\—{' c
N S
40
a Wrire an inequality 10 describe the figure,
b Solve for x. -

¢ Graph the solutions for x on 2 number line.
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The parmersr of the rmizngle is 30%

: ;
the vzlue of x.
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Find the value of yif x = —

Qa
=]
o
o
-l
i

|

o

Find the value of x and yif

2 3x+2=yandy=x-2

b 5x-4=y+2and2y=x-
¢ x=2andy=>5x+2

£

Find twvo numbers that have 2 ratio of 4.5 and a sum of 27.

The angles of 2 triangle are in the ratio 1:2:3. Find their measures,

Solve each equation for x,
2 3(x-1)+2(x-1)=20
b 3(x-2)+x-2=2r

=

C 7(x+3)+4(x+3)=33

s

Which of the followi ing can be substituted for 75%7

oD e
2 100 b 0.0075
st 3
¢ 0.75% d 7
= I3
e 075 f Tomo
Two supplementary angles have a ratio of 1.2, Find the méasure of the
smaller angle, =
H
The lengths of segments MN and NP have e
the ratio MN:NP = 5:3 and MP = 72, i N

Find the length of s2gment MN,

In AABC, m/B = 30. The ratio of A

ZC 10 £A is3:1. Find the measurs

£Ct0 £Ais3:1. Find the measure X oyl
Ofic \ /

Simplify the expression or solve the &quaton or inequaliry,
2 3(}:— 1+1
1) +1=4

2

b 3
c
d

(o2l ot
l/\

C?
-l- u.:
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[

1—t

K

(SA)
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|
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Use the Funcrion f(x) = 55" — 1 and find
1 f(0)

o A1)
c f(-3)
d
Evaluare the funcrion g(x; y) = 3x~ 2y for each of the following valugs. )
; 22
z g0, 1)
b g-1,2) b
c gla, 0
5. c
Hi Jumocf makes x thr c=~pomt field goals, y two-point field goals, and z
one-point free throws in 2 baskerball game. Write a function P for the oral 5
number of painrs h‘_ makes in the gﬂmc y 2
If f(2x - 1) = 2z, find A7) ;
Find the amount of intersst eamed if $3000 is invasted for one year ac 7% =
simple interest &
. 3 . g 4]
TFF(x) = 32— 1and g(x)=2x +3, find xwhen f(z) = g(z).
Witz a function for the perimeter of each figure., _
: »
2 Square b Recuangle .
a




Graphs af Functions
 function is 2 relatonship in which zach i inpurvalue i ¥ One ouiput value. To
ieiermine whethera graph represents a fancion in which ing walue £ is paired with exacily ons=
ourput value IT ), or ¥, ]I'll_._-’l-: a "em'cal line moving vemical ling intersecs the
_rﬂpn in exacily one poins, the graph repesents a ralat ), 01 ¥, i3 a funciion of x.

s

This is known 25 the verdcal line t=st, p . o
NETTY T AT LT mye
L
Example fol
Determine whether sach graph represents & relationship in which yis a fancrion of x.
2 Y b Y ¢ ETTEAT?
LA \ I/
- ~ / A’ \ ~ /
a 2 T
By ™ A X
v l2 (1 ) y |2 2 z

Solution

a No. Averical line drawn mOLah =3 0sses two points of the graph,

b No. Avenicalline drawn through any xvalue greaver than 1 crosses the graphin two poins.
¢ Yes. Noverical line will cross the graph in more thad one paint.

Use the vertical line test to deternine #Feach graph represenisa rﬂlar_m.shm n which yis 2 fanction of x
Fitis not, deewa "=rtml line that crosses two points of the graph

1 Ly 2 cyl 11 3 syl 1A
: LA | /]
X = Ed / X
P = s
\.\/, X \\
¥ & | RER
4 Yy 5 IS7] 6 F 5T T
A '\.l. . AT |
hied HIRES
I\ / X
¥} ¥l ; |
7 194 8§ i 9 __ i 4
i X X X
1 4
{ |
Pl P v 1
10 [ | &y 11 Ey[ ] 12 - | 4Ly
i | N |
L | x ]
A 'i\w L7 r'! i | [P
A v T 1 i
EEEN v HEEEAN

(SN

<

fua



Graphing Inegualiiies

You have used graphs to represent equations. You can also use graphs (o represent insqualities. For
example, the graph below at the left represems the inequality y 2 3x+ 2, and the graph below at the right
represents ¥ <—2x+3. '

In the graph at the left, the boundary line j=%x + 2 is solid, because the inequality symbol is . 4 solid

' j boundzry line means the boundary is included in the shaded region. At the right, the boundary lins
y=-2x+ 3 is broken, because the inequality symbol is <. A broken boundary line means the boundary
is not included in the shaded region.

1 Inthe graph for 2 3x+ 2, why is the shaded region above the boundary line?

%
4

2 Inthe graph for y <—2x+ 3, why is the shaded region below the boundary line?
3  On graph paper, show the inequaliy y> —%x— 5. (Start by lightly drawing the boundary line
2. . : . ; . .
v =-3x~35. Then decide whether the boundary line should be solid or broken, and which side of
the boundary line should be shaded.)
4 On graph paper, show the inequality ¥ < -_:?.\'+ 1, 7

5  Here are two inequalities.

-

X+a

v

In
Jvs

x+]

¥
}.'

Wit

Show both inequalites on the same graph, and indicare all the peings that satdsfy both conditions.

{(n)
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In problems 14, find the number,

1

(G 3)

>

15% of whar number i 87 2 91is 25% of what number?
4% of whar number i 3 4 150% of whar aumber is 52,57
Which is greater, xor Y, 1£25% of x is 16 and 12%cf yis 24

In problems 6-8, the char; shows how Dale has budgeted his money based on a weekly salary from his
job after school,

6

Dazlg's Wsekiy Bud

ki
¢
How much does Dz)= €arn each week?

Rowr much money of hig weekly salary does
Dale have budgeted for clothing

How much money of his weekly salary does
Dale put into savings?

Cindi received 2 Commission of $250 las; week. What was the total 2mount she sold if she earns
% commission?

ol

Super Stugger got hits in 3504 of his at-bats, He 8ot 210 hits, Howr many 2t-bats did he haver

- ic N, P . ;
Mazx is taxed on his income ata rate of 335%, If he paid $18,000 in taxes, what were his tora]
€arnings?

T

The total cost of a pair of boars, including 794 ealag tax, is $69.55. Whar wag the selling price of the
boots before tax? :

LN
[
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Solve each equation for x 1a
J R A9 Sy +~23 T
a:J‘t):_.a."- b ?A-sz‘sq_ 1b
6 ) 2 3

If 3x+ 2y =2(x—y) + 9 and y =2, whatis the value of & 2

Copy the following steps, filling in the missing coefficients and constans, o 3

solve 33+ 5z=9z-21for z

Step 1 35+ 0zt z =9z-21+ z

Step 2 21

Step 3 21+

.

Salve the propomon 4
The perimeter of a recangle with sides 3x d 2xise vuJ io the perimeter 5
of an equilateral triangle with a side lengt 3. Solvefor =,

The percnetcr of the reciangle equals the circumferance of the circle. Find 6
the radius of the circle.
x+3
2x+5
7

The circumference of cirdle A is

70 and one-third times the
circumference of circle B Find
the diameters of the circles,

The Fix-it-Fast Business Parts Siore charges $60-service fee per visit plus 560 8
per hour. Mazwell charges $120 service fee plus §40 per hour for the same

10b Is it cheaper 1o hire Fix-it-Fas?? How long must a job take for it to be

cheaper 10 hire Fix-it-Fast

A stream is flowing at 5 mi_es per hour, A motorbozt can go 70 miles down- 9
stream in 2 hours. It takes 2.8 hours for the bozt to return upsoream (o its
Startng | Dla;e How fast does the boat travel in still water?

el
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A casseme tape costs §9.51, which includes a 7.5% tax. What is the pr.

3 o _rree
Lo olda
rice for the wpe? (Round your answear 1o the nearesi cant.)

o
n

The edge of each cube is 3 inches, If each cube weighs 1.5
cubic inch, how many pounds will 300 cubes weigh?

ounces per

The shaded area is whar
percent of the toral area
of the recrangle?

i

Machinz A DIo

minute, On a
at 10 AR Mad

oduces § bolts per minute, Machine B producss 10 bolis per
given day, machine A starred ar 9 AM and machine B started
1e A was shur down 2t 6 P,
2 When would machine B nezd to shut d down in ora:r 0 produce the
same number of bolis 25 machine A?
b If both machines shur dowmn ar 4 PM, w
produced for the day?

4 pile conraing 1200 coins. Each day Penny Nichols tales 20% of the
coins from the pile. Approximately how mMANY Coins remain in the p_1=
after 7 days?
Artwalked counezrclockwise
around rrack A beginning at
point P. When returning o
point P he walks around
circle B. How far has hs
walked when he agnin
returns to point P? p
=30 fi ——

Donna invested ovo sums of money totaling $9,000. They earn 8% and
10%. respectively. Find the two amounts if the wwo investments earned the
$1meE Amount of interest in a year,

at was the ttal number of bolts

nN

jm

{r)
q)



BETCR

w

[IES

\

\—/
i f\: y) = 2x+ 3y, whatis
a f(2,3)
b f(3.2).'
¢ f(-1,1¥
d f(1,-1»
e f(2,-2y
f of=2,27

Anne weighs 0 pounds and sizs on 4 teetEr board 4 feet from the fulcrum.
If Kersten “sits 6 feer from the fulerum to balance the board, find how much
Kersten weighs.

Peter has some dimes and quarters. He has 8 more quarers than dimes
The total value of his coins is $9.70. How many cmnea does he have?

The length of & recrangle is four timies irs widrth. The perimeter of the
reciangle is :Z Find its length.

Admission for a foothall game is §5 for adults and $3.50 for children. Raul
spent $24 on tickats, How many tickers of each type did he buy?

The périmeter of an isosceles pezoid is 53 centimeters. The length of the
longer base is 3 inches grearer than the length of the shorter base. The
length of the shorter b.w: is 5 inches greater than either Eu Whatis the’
length of the shorter base?

Tulia bought 15 stamps at 29¢ each and 8 stamps at 21¢ each. How much
did Julia pay for the stamps?
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1 Grzphthe two equations F=2x—-1and y =23 + 3. Use the zraphs o

solve the equation 2x = -2x+6.

(8]

=

Forthe equationy =4 —2x+ 57,

2 Find the values of ywhen x=0, 1, 2, and 3.
b What value of x gives the least value of 7

(WX

The height—versus—time equation is h=-16:% + 487+
a ’\I\" 121 is the maximum height the rock will reac!
b Afier how mzny seconds will it hir the groun d

(¥ 5]
wa

Graph the two equations y= 3%znd y= 35 +

Has

h to solve the equatdon 3+ =
sult by substinuin g this valu\_

m
i
)
QW
(=
i
a
CI

ﬂ) 'O

A small company’s profit for the vears
graph.

un

A rock is tossed into the air with an inidal vélocity of 48

AN T T T 1T 10 !
H | O S S B | ] ) R &S] i
€0 711 i SN NN
i i i [l i b BEE :
2 : I MEEEE N
40 i N RN
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30 k4 ‘7;".-51:‘
20 i T HERe
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1280 1883

2 Between what years were the profits declining?
b In whart year were the profits at an all-time high?

PRAACES S

=2




Ny



..

e wa

(1}

J—t
=

=]

)= — et e
02~ RN AN s W2

i
Mio

et el LR L | [ = ) O |
(OF] \Jllb—' ! B

‘l

(TR

=

o ok o)

- D

yt
a

15 o b

Wl
«Q

VvV AV G

s}
&)

’f_l"l
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Nao: Ratios of corraspond
not equal.

ing sides are

us
o
a
4
o

ihle answers: 21in. X 10in., 3in. x 15

2

i =
b =)
5 DF:é.im;Iﬁ,:-’fﬁ
6z 8.9z
b 1341
72 48min= 15080 in3
b 11.25in 93737 in.3 = 204 52in3
C 64:i25 )
a 165
b 12

T -

<¥idey

vellow : red : blue = 2.2

blue: green : red. vellow = 9:6:1.5 |
red : blue : green ‘yellow =12:9.6.4
blue: red ; yellow = 5:2:6

&esn ired : blue = 6.4.12

red: yellow : blue = &:6:9
vellow : blue ; pad © gr=

2£n
&een:blug : red ; yellgwr

red: yellow : green = 8:12;
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ife Weaok. o - etiers made with straight lines are above theline
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Monday two steps forward,
gi .
3'_: ) Tﬁégéad
52 . e3day

2
-1 0 1
3
i arg € 40 A
Neither—ihe perimezers are equal 4
The square ) e A .
1,1y et
False, Possible answer: 23+ 13=4 A0 1
T 5
True . B .
=3 —————
Possible answer; 113—-72= 3% L K
: 2, ok Al g
Possible answar 33 + 33 +33=11 6 =>-1
s e
252 7 wee
8 x<0
]
& 4
4401 @ "
10

11

13

¥ x<-2o0rx>3
15 1<x<5 |

< 16 z<2
17 aandd
18 0<L+W<13
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. Weodan:
Monday Tassday T Eeiesday
¢ Alternarz exzeror angles: band h
g I False Alternate inferior angles: cand ¢
) ;2 False - Comzsponding au__g:[es dandh, bzndf candg
" True i 1 mA1=30 mL5=50
31 Vemical L m/2=130 m£6=130
2 Neither ms3=50 mL7=350

A} M-
(V=R N
(o2}

[=3%
Wi

B0 W
LR XEE Y] [ =
G Uy =
] B
]
I3
=
=]

W

T .ms4=130

m/8=130

Alrernars exterior angles: 3and 5,4 and 6
if two parellel lines are cut by 2 transverszl,
ths measures of the alternats interior angles

arz squal,
T

- Altarnar= exverior angles: 22nd 8; 1 and 7

~1
] S R [ e

U gl

o
[

1
U
2]

If two parallz] lines are cur by a wansversal,

1

“U‘l&‘ﬂaﬂ D‘wno"!\?n U‘F;‘

Wi

0 60° thes .'T‘_E’-‘.._.;UEES of the zlizmats exrerior'angles
. . = are equ

- 4 5 8(3,2); U -2 —
> 6 15°

1’3 1 - Ty —_ ] e —
y 7 Pasallel: AB and CD; Perpendicular: AD and

13 a=3 AB,AD and CD

=
w '
—
= n

= »—-l__. I
! - i
(S~ 2

|
o
—

3
b
(e

Ui

- W
—

9

LT

17 40

Thardday

(o8]

0

[0S
o

5

/U =39, mAN =359
135°

OC=4,0D= 6

89, 2); HG5,-1)
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far-3p3
32T
b fyat
Clawiory=-Yfalsefor x=1and x= 2
L£2aidx+2
bx+ax
52
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= 1o
N
WUa
o

& il

93 250
b9.09
c 200

33 G

1 o8+

- .

3 T

3 3x+4

4 606x+1.10
L5 G
3x°+3y

MWoo s oy w

Jomd
o

2 a Thesumof 3 and 2 number is 5.
b A number dividsd by 15

¢ 2 legs than the product of 3 and a numbes

O
m
)
=i
o~
5]

+3) or 2y + Gy

o
~1 b=
5

o o m
P
lA
[
‘LJ\
2

o
3
iy

wn
~J
5

6 3x+7y=20Bx+p

7 2 5($5.50) + 0.07(5250) .
b $5.50x+0.07y

8a4x+22=8x+18
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o i ¥ and Mary
CGrace wes twenty-thres, Halen was vwenty-ove, and Mary
Ieek was twenty-two
2 We2X;
Monda;
Tz 3 an
=iy v - Tridas
Y edizagday Eriday
1 4375% 3
= 14x>-3 5 1
3 5 T ) - 01
/.
oo bx26 e .
30% L
i cxys-2 - :
; - :
—y s - g
i ax< -
- o1 s

2a 4 b o100 c2

Ua

32 3x—1zx:] +2x+ 34222 < 50 or
7.

O DO N Oy s
bt
=
C
2

[
= O
o

oy Ut

Possible answers: 4 and 10, 40 and 100
Possible answers: 12 and 8, 18 2nd 12

L6

2508
14 7%
_ Yes
135

557861011 12

0.01x < Y.-ES
i 1 x20 Ak
0.25x =

Nojx=2

No; znyline—3 <z <2
’es

Yes

ml:s\om\la\m.p.ugm,_.

0.1x+0.25(x- 1)

100x + 5 x+0.05x
B(x-D+x 0.25(x~2) + 0.01%
Sx+x+3 0.055+0.01(x+3) ¥

5 quarners, 4 nickels
15 quaness, 35 pE.n_n_iES, 24 dimeg
1

P :
16 nickels, 20 Peanies, 14 dimes, 15 quamers
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From the inequality, w= want yvalues
“greater than or equal 10" the given
expression in x. So we want y values atar .
above the boundary line.

From the inequality, we want y values “less
than" the given expression in x. S0 we want ¥
values below the boundary line.




